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Victor-Marie Hugo

(1802~1885)
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Charles Baudelaire (1821~1867)
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[ Zardetto, Prosecco Extra Dry ]

~mEE 2

cato| 22l

O 2| E| = 221

0| E2{0kItaly)

Yeneto > Coneadliano

AEOE

Prosecco 95%, Chardonnay 5%

T50ml

35,0002 (ZHHM B2 7H50| OHE & UsULH)

11.5%

E~8C

Lizt2at

RP 907
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[ Chateau Pesquie, Chardonnay ]

ZHO| E 221

=eto| 22l

O[S 22!

&t A{France)
Rhone

AFEE H| A0
201

Chardonnay 100%
750ml

38,000 (EHHA E2 2150| S & U &ULh)
10~12°C
R BH|

Yin de pavs
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[ Farmer's Leap, Padthaway Shiraz ]

2 =22l

Sato| 22l

B0 2 2t

F F{Australia)

South Australia > Padthaway

oHH A~ &

2008

Shiraz 100%

750ml

70,000 (ZHHM B2 2HE0| OHE & UsULH)

15%

15~17°C
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[ Santa Carolina Late Harvest ]

0| E 221
AR EQ0]
M I EFO |7 2421

g {Chile)

s~
SANTA CAROLINA

=2y, ST Yel(Casablanca Valley)

———H

4H|= E2{Sauvignon Blanc)e0, M 82 ZE2t0|{gewurztraminer)do

AR LS (BN 22 7130| OHE & UsUDH)

13%

E0FFeG 242

=
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o ALIST 2Ol 8~12% LA = + CO2
e E[O|Z 20 8~15% LA =
o =™ US| 2fQl 17~22% L3 = Port Sherry
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Robert Parker (Wine Advocate)
WS (Wine Spectator)

WE (Wine Enthusiast)
Decanter

Gambero Rosso

Duemilavini
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% Ol .
NI E 0] Chadonnay NI 2| ££Hl= cabernet Sauvignc
2rH|= S Sauvignon HE = Merlot
Blanc Al2l/£12t= Syrah / Shiraz
2|&2! Riesling I O} Pinot Noir
M|O]2 semillion H|H| =2 Nebiolo
H|2L|0]| Viognier AMX|LH|A| Sangiovese
2HI2| = Albarino JEE0|H|= carminere

KTl Zinfandel / Primitivo
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